ERZ-SST-VD s m
Zg%%&??ﬁﬁg elesa TOHATSU
(us) ERGO

BF ZFEp
ME e | HE
PAHIEME | B | SUS303

&} OF NIF
: t
| T
2 ‘ - 2
| < II
3 ‘
d1 d
d
X it | R|d|L|D|HHL h|hl|h2| h3|d1] | llﬁ&kgflﬁﬁ
193135 | ERZ.63 SST-M6-VD BT | 63 | M6 |72.5| 19 (385042 | 10 | 31 | 3.5| 30 |13.5| - |135| 24 | 36 | A
193155 | ERZ.78 SST-M8-VD 8| 78 | M8 [89.5| 23 |45 [50.5| 14 | 36 |35[35|16 | - (16 | 26 | 61 | A
193429 |ERZ.63 SST-p-M6x16-VD | A | 63 | M6 |72.5| 19 |385/42 | - | 31 [3.5] 30 [13.5) 16 |13.5] 24 | 40 | A
193433 |ERZ.63 SST-p-M6x25-VD | A% | 63 | M6 |72.5| 19 38542 | - | 31 [3.5]30 [13.5) 25 |13.5] 24 | 42 | A
193673 |ERZ.78 SST-p-M8x20-VD | A% | 78 | M8 89.5| 23 [45 |50.5| - |36 | 35| 35|16 |20 |16 | 26 | 69 | A
193679 |ERZ.78 SST-p-M8x40-VD | A | 78 | M8 [89.5| 23 [45 |50.5| - |36 | 35| 35|16 |40 |16 | 26 | 80 | A
Ps. Ji-Fd | @k | [ 10 [X]
- {EFBRE : -30°C~130°C 193135
[sp. k£35S

- HRAL 5005 85| PARYRY » K74 FDA AZ#E(FDA CFR.21 1 EU 10/2011) » BJ&L
RAARRRRSE ) BigA5

- ERR B maEEEE

- AR P A E R ZE R R TS 2R KR

@ & FERER

HRREIET o IREEAVERBVERER T © MAIEFREEIAMIE » LUEEITHIY
- FRBRIETF - 1BASEE(SUS302) 1 BB kIR IR EiE S R &

- BIEFEAC0°BEE - SHInRIETF - EIRRRISTOEMG - EITHI



